WORK SHEET -08
Single Correct

Q.1

(5.3

Q.4

What is the correct order of nitration of the following compounds?

C.H,CH, C.H, C.D, ol C . HBr CHNR, C,H;NMe,
a b C d e f g
(A)gf}a'}bﬁclﬁf’df}e} t (B)glﬁb?c}dﬁe?abf
(C)g>a>b=c=d>e>f (D)g>a>b>c=d>e>f
NH,
@ cone. H,50 § (X) Br, 'H,0 N (Y)
Product (Y) of above reaction 1s
N1, NH,
(A) Br SO;H (B) Br Br
BT 803[1
NHE NH'}
(C) Br Br (D) Br Br
SO,H
Br Br
Ethyl benzene 1s treated with the reagent listed, in the order shown.
(I) NBS, peroxide, heat (1I) CH,— CH,0”  (III) B,H, (V) H,0,,. HO"
(A) Ph=CH.~CH,;~0H (B) Ph—(‘TH—CHz - OH
Br
(l)H
(C) Ph—-CH -CH, (D) Ph—-CH-CH,Br
. | 2
OH
@ . 03 > (A) conc. NaOTl s (B)
/n—1-0
Product (B) 1s
CH, - OH CO(?N?
(A) ! (B) | & &
| 6 Ha—0H C‘Oijf"
COOH COENS
(C) O @ (I3} |

CH. ONa CH.— OH



Br ¢, H.0Na
C,11,0H

Q.5  Inthe givenreaction : > (P), (P)1s

NO,

Br 0C2”5

NO, NO,

OC-,H
OC,1;
@' (B) ©) | ()
NO, C

Q.6  The final product of the given reaction sequence

N()
(NH )45 NaNQ, OO0
372 > 2 Hh .{.Ll_ N
HCI Cu(NO,),
(0-5°C -

Ol OH

()(:2!15

(B) @ (C) @
NO, NO, OH

H,S0, /A Se/ A g cnnu.ll;ﬁi[h X
high temperature

Final product is

Br

| Br
(D)

OC,H

o©

SO.H
w(oJO

SO.H

_SO.H
o8 w10

Q.8 B 'Fe o Major product

Br
Br

Br



Q.9  Identity the final end product n the following reaction sequence

@ + Succinic aniwdride AlCT N A /n(llg)/ HCI . B SOCI, , C AlCI; " D > Pt N E

I H,O' /A . F NBS }G KOH (alcoholic) . H

(A) Napthalene (B) Anthracene (C) Decalin (D) Phenanthrene

Q.10  Which one 1s not a good method to get Ph—Ph.

(A) aq. PhCOOK — St (B)Ph 1 <",

A

Na
(C) Ph—Cl - @ .y (D) Ph-Cl —-

Comprehension :
Examine given sequence of reactions carefully :

NO.

Sn + HCI HNO, H.O Conc H.S0 Br. + FeBr, =,
— A :3yB————C 2 3yD———">E
| OO~ C CXCEeSS

Q.11  Conversion of B to C 1s which type of reaction ?
(A)electrophilic aromatic substitution reaction
(B) nucleophilic aromatic substitution reaction
(C) free radical substitution
(D) nucleophilic acyl substitution reaction

Q.12 Formation of A from nitrobenzene cannot be achieved from :
(A)Zn +HCI (B) Fe + HCl (C) NaBH, (D) LiAIH,

Q.13 Identity product E of the reaction :

OH OH
Br Br Br Br
(A) (B)
Br O.H
OH
Br SO.H OH i
1
(C) (D) @
Br Br Br

More than one correct :

KMnO, 'H' /A NaOH/ CaO
Q.14 @ — y =T
——OH A

Which statement 1s correct about final product.

(A) It can not evolve H, gas on reaction with Na metal

(B) It can be hydrogenated at high temperature and pressure

(C) It form an explosive product on trinitration

(D) It form para bromo toluene as major product on bromination by Br,/Fe.




Q.15  Which of the following can decolourise brown colour of bromine water?

OH
NH,
W/ w0 o«
Cl./hv .
Q.16 High pressure >
Name of P is/are
(A) Gamaxane (B) HCB (C) BHC
| HCN/HCVAICI, OHH,0  Ph-CO0
Q.17 A —> —>
| 2 H¥/ H.0 Ph-CH.—OH
'A' can be prepared by :

COTHCUAICK

(A) Ph—H -

(C) Ph-CH,~OH __"c

Mathch the column
Q.18 Column-I
(Reaction)

OH
(P) @/\/ kwo,

Cl

(Q) @+ CCl,-CHO "

OH

(R) @+Pthallicanhydﬁde '

(S) Ph-NMe, +Ph-N,Cl

Subjective :
Q.19 Consider tollowing reactions-

Cl

DN.C1©

(TIT) @ CuCN HON

N©

(D) Lindane

(B) Ph_C}];‘ 5 Etard reaction N

D) Pl CH/CI KOH
1 —CF ag KO

(D) ~cl >

Column-l11

(Major product)

(A) DDT

(B) Benzoic acid

(C)  Butteryellow

(D) Phenolpthalene
CONH

(11) @ Br. OH
CONH.

(TV) @ PCle

No. of reactions which can produce Ph—CN in above reactions are



Q.20 Consider following compounds

NHCOCH. CONH,

5o & & o d

No. of compounds which are more reactive than Ph—CH, for bromination are

Identify number of reactions that can give benzene as major product

OH
@) 3H-C=C-H— (b)© o
A
: D
COOH ¥

(C) @ |"'¢;1{_1HH- Cal) N (d) i - _ll_:F’ﬂ; .
O H SO.H
(e) é LA, (f) @ H'H.H:U .

MgBi

(:) HOH > (h) @ e S0 : = >

=

Q.22 Identify number of reactions that would give salicylic acid as major product.
OH OH
L CHCL e NaOH o LOI . 2.0,
(a) H (b) I ’
OH OH
LCCL, - NaOH N .0,
(C) @ 2.H (d) @/\/ 2 H,O, H:t}
C'OOH
SO.H
(ﬂ)@ Yoy
ANSWER KEY
] C 12 €« Q3 A Q4 D Q5 A
Q6 B Q7 B Q8 C Q9 A Q.10 C
Q.11 B .12 € Q.13 A Q.14 ABC Q.15 ABC
Q.16 ACD Q.17 ABCD Q.18 [(P)B,(Q)A(R)D(S)C] Q.19 [2
Q.20 [3] Q.21 [5] Q.22 3]
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HINTS & SOLUTION

(C)

r.d.s of nitration does not involve (C—H) bond clevage

. CH,=CD,=CT,

(C)
NH, NI,
Br@Br
SO;H Br
(X) (Y)
(A)

c,H,0°  Ph-CH=CH,
Hs07

QCH2£HS NBS @—(I:H—cn?,

Br

A

Ph-CH,-CH,-OH , H;0,/NaOH (Ph-CH-CH,)

CH,-OH

1 H

(D)

H
@ 04 > 3 \:O conc. NaOH (. )\

Zn+11,0 -
2 H / O O O

(A) ®)
(A)
(B)
(B)

OH

-S04/ A >(Q:O Se/A }@@

O

J:

B,Hj

conc.H,50,

high temperature

SO.H
(olo



Q8 (€

B r ]

- Br

Due to activated  Major
this position by 3
hypoconjugative

structures.

Q9 (A

Q.10 (C)
0 0 O
| o | |

o .
Ph~C-OK® —> Ph—-C-0 +K®—> Ph-C-0* —— Ph* —— Ph-Ph

Ph—T (’A > Ph—Ph

Ph—Cl > poor yicld Ph—Cl — > Ph—Ph
AICI, Rkl

Q.11 (B)

Q.12 (C)

Q.13 (A)

Q.14 (A)(B)(C)
Q.15 (A)(B)(C)
Q.16 (A)(C) (D)
Q.17 (A)(B)(C) (D)
Q.18 (P)B,(QA(R)D(S) (]
Q.19 2

Q20 3

Q21 5

Q22 3
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